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QUESTION 1

How many Link Aggregation Groups (LAGs) can be configured on a vSphere 6.x Distributed Switch? 

A. 64 

B. 96 

C. 128 

D. 256 

Correct Answer: A 

You can create up to 64 LAGs on a distributed switch. A host can support up to 32 LAGs. However, the number of LAGs
that you can actually use depends on the capabilities of the underlying physical environment and the topology of the
virtual network. For example, if the physical switch supports up to four ports in an LACP port channel, you can connect
up to four physical NICs per host to a LAG. 

Reference: https://pubs.vmware.com/vsphere-55/index.jsp?topic=%
2Fcom.vmware.vsphere.networking.doc%2FGUID-0D1EF5B4-7581-480B-B99D-5714B42CD7A9.html 

 

QUESTION 2

An administrator needs to configure an ODBC connection to the database for a vCenter Server install using the
Windows built-in system account. What options must the administrator configure to accomplish the connection?
(Choose two.) 

A. Create the new ODBC from the UserDSN tab. 

B. Select SQL Server authentication. 

C. Select Integrate Windows authentication. 

D. Create the new ODBC from the SystemDSN tab. 

Correct Answer: BC 

To create a new SQL Server ODBC connection, click Add, select SQL Native Client, and click Finish. 

Type an ODBC data source name (DSN) in the Name text box. 

For example, VMware vCenter Server. 

(Optional) Type an ODBC DSN description in the Description text box. 

Select the server name from the Server drop-down menu. 

Type the SQL Server host name in the text box if it is not in the drop-down menu. 

Select an authentication method. 

Integrate Windows authentication. 
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Additionally, you can also enter the Service Principal Name (SPN). 

Important 

You cannot use this option if the vCenter Server service is running under the Microsoft Windows built-in 

system account. 

SQL Server authentication. 

Type your SQL Server login name and password. 

Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic=%2Fcom.vmware.vsphere.install.doc% 

2FGUID-E83D153B-F6DB-4355-8806-357C8E1F01CF.html 

 

QUESTION 3

An administrator is unable to create the first group in a new vRealize Operations environment. 

What is the likely cause of the problem? 

A. There are no group types defined. 

B. The group is not defined in SSO. 

C. There are more than 32 group types defined. 

D. The description for the group is not provided. 

Correct Answer: A 

Explanation: There is no group types defined when administrator is unable to create the first group in a new vRealize
Operations environment. 

Reference: https://www.vmware.com/support/vrops/doc/vrops-601-release-notes.html 

 

QUESTION 4

Refer to the Exhibit. 
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An administrator attempts to enable Enhanced vMotion Compatibility (EVC) on a cluster. The operation results in a
compatibility error, as shown in the exhibit. 

What is the likely cause of this error? 

A. The CPUs in the ESXi host are not AMD CPUs. 

B. The CPUs in the ESXi host do not support hardware virtualization capabilities. 

C. The XD/NX CPU features have not been enabled in the BIOS of the server. 

D. There is no shared storage between the hosts in the cluster. 

Correct Answer: A 

In general, if a processor can support EVC level XN, it can also support levels XN-1 to X0. For example, a processor
that supports the Intel?;Sandy Bridg"; Generation EVC Baseline has an EVC level of L4. Therefore, it can also support
EVC levels L3, L2, L1, and L0. However, it cannot support EVC level L5, which corresponds to the Intel?;Ivy Bridg";
Generation. Intel EVC Baselines are listed in Table 1.1. 

For AMD processors, there are two different sequences of EVC levels: Levels A0 to A3, which support the first 3
generations of AMD OpteronTM processors, and levels B0 and above, which support AMD OpteronTM Generation 3
and later processors. 

Note: The AMD OpteronTM Generation 3 (no 3DNow!TM) EVC baseline is common to both sequences. For example,
an AMD processor that supports the AMD OpteronTM Generation 4 EVC baseline supports the AMD OpteronTM
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Generation 3 (no 3DNow!TM) baseline, but not the AMD OpteronTM Generation 3 baseline. An AMD processor that
supports the AMD OpteronTM Generation 3 baseline supports the AMD OpteronTM Generation 3 (no 3DNow!TM)
baseline, but not the AMD OpteronTM Generation 4 baseline. Reference:
https://kb.vmware.com/selfservice/microsites/search.do? language=en_USandcmd=displayKCandexternalId=1003212 

 

QUESTION 5

Which two actions are required when enabling vFlash Read Cache for a virtual machine\\'s virtual disk? (Choose two.) 

A. A value in the Virtual Flash Read Cache text box must be entered. 

B. A Flash Resource Pool for Cache size reservation must be entered. 

C. The Device backing and the block size must be configured. 

D. The Enable virtual flash host swap cache check box must be selected. 

Correct Answer: AD 

To enable vFlash Read cache for VM virtual disk, enter a value in virtual flash read cache text box and 

enable virtual flash host swap ache check box. 

Reference: http://www.yellow-bricks.com/2013/08/26/introduction-to-vsphere-flash-read-cache-aka-vflash/ 
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